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PRE-MODEL EXAM -1
No. of Questions: 150
Duration; 2:30 hours
1. The Polysaccharide found in liver and muscles is

a. Starch b. Cellulose c. Chitin d. Glycogen
SHMFHEIMAID, H6060T60HMNGID SAEILILIBD Sl HF FTHBDT
a. GWLMTF b. GFevaBsvmerd C. MBLIQGIHT d. demenGsmegest

2. Consider the following statements.
I. The Constituent Assembly was constituted in November 1946
under Cripps Mission Plan.
II. Initially the total strength was to be 289.
A.Talone is correct B. II alone is correct
C. Both are correct D. Both are wrong
LNeTeU(HLD  FnBHISBEDETOLFTUIH:
L oyfluieoemol i plitemiul  Fenul SHifillerd  Gupaler Hi L GHHer &S 1946  HeubLifled
SIMLOBESILIL L5
ILopseded Sipenient w Gorshse miilearmsst 289

A. Tw B & B. Ilio B &M

C. ®yewipd &ifl D. @yewiGd Heuml
3. Choose the incorrect pair.

A. Berubari Union Case - 1960

B.KesavanandhaBharti Case - 1973

C.Golaknath Case - 1967

D. LIC of India Case - 1980

SHUBTE  DenertenIGHTa|6lFUIH:

A. QuuriipdSHuiaipdE - 1960

B Gasgaunmebsm UTTSHalpss - 1973

C. CamevdbTdh aIpHS - 1967
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D. LIC aups@g, - 1980
4. The dimensional formula for modulus of elasticity

a. ML1T-2 b. M1L3T-2 c. ML T2 d. M-1L2T2
bl FlGenddHHler LMiomenr eumuwIriLImy
a. ML1T-2 b. M1L3T-2 c. ML T2 d. M-1L2T2

5. The Sarabandi (no tax) campaign of 1922 was led by:
a. Gandhi b. Chittaranjan Das
c. Ambedkar d. Vallabhai Patel
19229pb  spewip  FITUBHS e eufldsTir  CUIITLLSHBG  HMEVMLDS
SHTRIS|WLIGUT
a. &b b. fsarehaen Hrerd
C. OIDBLIGHBIT d. eueveourmus ur GLev

6. M.C. Setalvad, B.N. Rao and Alladi Krishnaswamy Iyer were distinguished
members of the
a. Madras Native Society
b. Madras Mahajan Sabha
c. Madras Labour Union
d. Servants of India Society
M.C. QgL Lebeus,B.N.gmel, @evlg dmagenrgmOamo st ouaGuInT 61db@pales
© mINTNeTHeT SauT?
a. Ogeaiemen &56x& FmISD
b. QFeiener LDHTLIT FeoL
C. OFaene . OHTPEOTENT HIPHLD
d. ®bdul eamfuiTser FmhisD

7. Which sultan brought Asoka’s Pillar to Delhi

a. Qutub-ud-din Aibak b. Jallaudin Khilji
c. Firoshah Tuglugh d. Balban
SIBFTaHT FHmewew! OLeLeVdHGHS OBHTemIhaIbS FHeOHT6ET WIMT?
a. GHILHe MLk b. meoraniger dleved

Cc. QuUGrTerd QT FHibend d. umedLies

8. In which of the following states was infant mortality rate the lowest as per
Census-20117?

a. Tamilnadu b. Punjab c. Kerala d. Karnataka
Netteu(hd  LOMHleVRIG6eT60  2011-1D Lewi(h  LDEHHTOHTEND  HewidbOBBLILTET LIy
GLHMBHHET @MU AIBHD GHMBeUTH 2 66 LDTHIEVD 6157
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a. sODBTH b. uehaml c. Gmyenm d. srmpTsm
9. A system to detect earthquakes and disseminate warnings has recently been
installed for the first time in India in
a. Dehradun, UttaraKhand b. Hyderabad, Telangana
c. Chennai, Tamil Nadu d. Bhopal, Madhyapradesh
USDUD 1oBEpId SISt UTee0HeTal  aFFTlbmasenet HewiL Bl @(H  SIMLOLIL
FLOUSFH60 BHSHWTaN60 (PH6T (PdBWTS HBIOUIILILIQ(HEHGHWD & 1b?
a. GLgm®Beir, 2 _Symmeuil b. emam&yTUTSH, OHeVIBIETEIT
c. Gaaiemer, SOWDHTH d. Gumumed, wHFHW LNFBHFID

10. In which of the following regions would you a expect the maximum effect
of insolation as an agent of weathering?
A. Sahara Region B. Tundra Region

C. Mediterranean Region D. Equatorial Region

BIDHBWIL  6IhDL  LGHH6M6D  HTeVHIemeD LOTMILITL LML — gBUBLD Hlende] i
STFeniumeg  Oeuuled cpelld UL DIHFLLF allenenamelsh SBIBSH 61601 [BHHIGHE
THITUTTHSBINTH6T?

A. samm ugs B. gamparm UGS

C. 0hau Hmrs HL60 LGS D. uwéHu Crensll LG

11. Which number will replace the question mark in the series?
0, 6, 24, 60, 120, 210, (?)
a.290 b. 240 Q280 d. 504
B&H05HTLfle0 2L 6o Baofald@GMlenul 61hg 6l6w HIFLILD?
0, 6, 24, 60, 120, 210, (?)
a.290 b. 240 c. 336 d. 504

12. Amala invests Rs. 6,000 in a bond which gives interest at 4% per annum
during the first year, 5% during the second year, 10% during the third year.
How much does she get at the end of the third year?

a. Rs. 7,300 b. Rs. 7,007.2 c. 7,200 d. 7,207.2
SIDGUT,ARLITUT  6,000-50% @H (WPWHSH OCFUIHEmIT. @0 (IpHeoTewtged 4%
QI IQUlb, BJeTLMOTewIged 5% Ul lgujid,  cLp&TBTIOTaRged  10%  eullgu b
HeML_SHGLD 6160160, CLOGIIBTLOTERIGET (LPIgalled SioeOT UMD OFHTmS WITSHI?

a. Rs. 7,300 b. Rs. 7,007.2 c. 7,200 d. 7,207.2

13. If the simple interest for an amount at 4% per annum for 3 years is Rs. 1,200.
Find the compound interest at the same rate for the same amount for 2

years.
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a. Rs. 10,116 b. Rs. 10,720 c. Rs. 10,616 d. Rs. 816

@ GPUILL QTmdsd 3 auBLEHHD 4% ey aipsHHe p. 1,200
sl ly FHoLsIBH. D6H FTmadsd S6H ey aiHHHe0 2 eUbHLGHIH6L
HML_SGID Fnl (B QU lg WTgH?

a. Rs. 10,116 b. Rs. 10,720 c. Rs. 10,616 d. Rs. 816

14. A can do a work in 12 days; B in 6 days and C in 3 days. A and B start
working together and after a day, C joins them. The total number of days
required to complete the work is

2 2 1 1
a. 27days b. = days C. 27days d. 1= days

@0  Gouemevenwl  (pApedLOWITH  HelddHelCu  Gauigd  wysds A, B, C
SLFCUTHEBEG 12 BT &H6iT, 6 BT H6IT WBWID 3 BT H6T 6leiid. A, B @meurmbd
Gauemevemws GFuiwr rbllisa wrmTer Cib oeuTaCarmh Coledevenul CFUI1HT6L,
SHhS Gouemevenw! (LprpenownTd. OFUIH (PI9dHed CHemeuulmer bl HeiT

a. Zgrrr)m'_asmﬁ b. 1§LF,HL3561'1 C. Z%LF)ITI'_HSQ'T d. 1%‘|'_F)ITI'_556‘I'T

15. A and B can together do a piece of work in 30 days. B alone can do it in 40
days. A alone can do it in
a. 100 days b. 140 days c. 120 days d. 180 days
A wi B up Gasibgl @ Beuemevenuws 30 mm sefled GauleuT B ol (Hiow
9i6Gsuemevent 40 “pmeloy. GFuieumT eTele0, A LB  DIIGIMEVMUI  6T5HFHENE
BreMed GaFuwieumiT?
a. 100 BT Ser b. 140 pm &6 c. 120 BT H6iT d. 180 ®mm el

16. Identify the following statement

1. Gandhian Plan proposed by SN Agarwal (1944) is concerned with holistic
development of society

2. LPG strategy gave new life ‘license - permit raj’ system

a.1is true, 2 is false b. 2 is true, 1 is false

c. both are true d. both are false

LNeiTeU(HLD FnBmIHEmET SHLUIH

1. SN osTouted Seuisenmed (1944)  GBSHHIEOISSBLILULL  STHHW S LLD
FUPSTWLSHIH T (1D eUETTFFUL 60T CGHTLTL ML WIS

2. LPG &L “oga o fiob  eupri@h” HLSHBG yHw  eumbeienet

SieSS3|
a.l af, 2 eyl b. 2 af, 1 seam
C. @yewi(pd & d. ByewiG Heum
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17. Who among the following won The Hindu Playwright Award 2016

a. Meera Sitharaman b. Anuradha Marwah
c. Thomas Manuel d. I[rawati Karnik
2016 &b SLewIgBHTRr “FH Bb&H BTLE AT allma™— & CummeuT
a. OJm FHHMITLO6HT b. &IgTHT WoTTeuT
c. &Mooy GLogniaIed d. ®ymeug smmHs
18. Rift valley is formed between two
A. parallel faults B. parallel folds
C. anticlines D. synclines

19.

5 |

el LIeTeNSHIHTHG DIenLDaIS)

A. &m Bementwimer Ll6Te|s6ehademluiled
B. &m ®emewrwimen LogLiL|dehdbalenL_uiled
C. ®m Ged 6m6IT6)|HEHBS ML G

D. ®&m SD 6uemere)|s6haalemuled

Consider the following statement regarding Rukmini Arundale

I.  She was instrumental for the legislation for the Prevention of Cruelty
to Animals Act.

II. She was instrumental in setting up of the Animal Welfare Board of
India, under her chairmanship in 1962.

III.  She was President of International Vegetarian Union

IV. She was honoured with Bharat Ratna in 1986

Choose the correct statement/s

a. I, III b. I, II c. I II, III d. All the above

(HdLWleT o|HeWIGLe0 GHBHSH LleTeu(hld FmMBmIGHemen DLU1H

[.8aiT alevmid euend HOLFFU LD QUIBBLILIGISBE STTRIOTS ENHHSTT

II. @eut 196284 eI @levkIF HO euTfluid o (HUTaUSHMBE HTJEUOTLOTS

BDHHSBIL T DISHGT HENGVEUTTHGLD  LIewT i3l earTiT

III. BeuT 2 085 MWFau FHPHHH G HEMVATTH ENHHSHTT

IV. @ait 198680 Sewih UTTSH FHem (bl aupmid Gdenyaildbasliul LT

a. [, III b. I, II c. I 1L, III d. @meu SIMRNHHID
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https://en.wikipedia.org/wiki/The_Prevention_of_Cruelty_to_Animals_Act,1960
https://en.wikipedia.org/wiki/The_Prevention_of_Cruelty_to_Animals_Act,1960
https://en.wikipedia.org/wiki/The_Prevention_of_Cruelty_to_Animals_Act,1960
https://en.wikipedia.org/wiki/Animal_Welfare_Board_of_India
https://en.wikipedia.org/wiki/Animal_Welfare_Board_of_India
https://en.wikipedia.org/wiki/Animal_Welfare_Board_of_India
https://en.wikipedia.org/wiki/International_Vegetarian_Union

20. Match the following

A. Quartz 1. Mg(OH);
B. Milk of magnesia 2. CaS04.2H,0
C. Lime 3. CaO
D. Gypsum 4. 510,
A B C D
a. 1 4 2 3
b. 2 1 3 4
c. 3 1 2 4
d. 4 1 3 2
CQUT(HSHHIS:
A. @euit_erd 1. Mg(OH),
B. Guséatdlwumeoiob 2. CaS04.2H,0
C. FL GeuwtennibL 3. CaO
D. sigid 4. Si0O,
A B C D
a. 1 4 2 3
b. 2 1 3 4
c. 3 1 2 4
d. 4 1 3 2

21. Consider the following about cell doctrine
I. All organisms are made up of cells
IT. All cells are basically alike in their structure and metabolic activities
III. The structure and function of the cell are controlled by DNA
Which is/are wrong?
a. LIl b. II Only c. [ II d. Il only
Q60 Gamum i9m&met LleTeu(heueTeuiens 616,
I. simarsa 2 uilfleseEpd 0F60H6MTeD SL6TM6I
II. swarsaF OFosEpd dWlTDd eauenidlensd LIBB  GFwedsaMeID
SIQUILIMLUTGD HSHeNE.
III. QFevellelr SiemiDlIenLIL|D OQFulsdmenu|d &L BHliLGSHSHIaH DNA oy@ib.
gl [/ etemau Heumi?
a.l wmmnd III b. I o1 @Gib
c.] wmpip II d. IIT wi @
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22. Match the following

A. Mehargarh 1. Late - Harappan phase
B. Amri 2. Mature Harappan phase
C. Kalibangan 3. Early - Harappan phase
D. Lothal 4. Pre harappan Phase
Codes:
A B C D
a.l1 2 3 4
b.1 2 4 3
c.4 3 2 1
d4 3 1 2
QUTHSHHISH:
A. GusitaiT 1. Uerr emylium &mevld
B. oubfl 2. (pSHGH QBILILT SHT6VLD
C. amedumnise 3. SUIIDLI MILILIT SHTEVLD
D. Goorghse0 4. (1peir QBILILIT &HT6VLD
GBUWIG e
A B C D
a.1 2 3 4
b.1 2 4 3
c.4 3 2 1
d4 3 1 2
23. Match the following
A. Amitosis 1. Reproductive cells
B. Mitosis 2. Amoeba
C. Meiosis 3. Body cells
A B C
a. 1 2 3
b.2 3 1
c. 3 1 2
d3 2 1
QUT(HSHSHIS:
A. geniol Lrdlerd 1. BaIOUHBBF CF60HEI
B. emwl Lrdlerd 2. ousur
C. Blwrdlerd 3. 2 L60 Q5606
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A B C
a. 1 2 3
b. 2 3 1
c. 3 1 2
d.3 2 1
24. Coinage metals (Cu, Ag, Au) belongs to
a. Group 9, p block b. Group 11, d block
c. Group 6, p block d. Group 9, d block
BTewil © GeuTdmideT 6IHemendF CFhHemnel
a. Qa16#.9, p O1EH b. Os1gd 11, d GsrEd
c. OB1ed 6,p CHTGHH d. Os1gg 9,d Gsied

25. Find out the incorrect pair

a. Sitar - Vilayat Khan

b. Shehnai - Rajendra Prasanna

c. Sarod - Amjad Ali Khan

d. Tabla - Vikash Maharaj
SHEUDBTET Een6nTenUlsh SHTeuISH
A. A st - afleomuig, BIT6I
B. Qeagenmul - BunCbAy Lilys ettt
C. gmps - SIbMWSH IV BT
D. s8ueor - alBMaG LDABMTITE]

26. A do a piece of work in 4 hours, B and C can do it in 3 hours, A and C can
do'itin 2 hours. How long will B alone take to do it?
a.12hours b. 15 hours c. 9 hours d. 20 hours
‘A’ aeuaum @ Geuemevemws 4 ewll GBIHHeID, 218xh Geuemev Buyd Cujid
Gambal 3  wewil  CryHHevid,Aujd  Buyp  Gaibadl 2 wewll  GmyHdevid
(wsHimeart eafed, B’ sailwins (1pss aBdHaid Gsmeiend GHJD eeialee)?
a. 12 e b. 15 e . 9 wewf d. 20 wewf

27. The sum of two numbers is 187 and their HCF is 17. What is the number of
such pairs of numbers satisfying the above condition?

a. One b. Four c. Five d. Seven
B eewisalear gl (e OHTens 187. Guoed Seupplesr 15.0L.en 17. BbS
BUbHMTOWL LiTHE CFuIuibamigul BGxmemerilen 6lemiemnidbend 615366 !

a. Q&IWI b. BresiE C. Wb d. gap
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28. The highest common factor and lowest common multiple of two numbers
are 12 and 144 respectively. If one number is 36. Find the other number.

a. 49 b. 50 c. 36 d. 48
B eremiderlent OLGLMH GuTEH sTyenl (uGHHFH) 12, WFFHAm Curg wLmiE 144,
@(H 616wl 35 61660 LOBOMT(H 6TEWTeN6mIs SHT6uIb.

a. 49 b. 50 c. 36 d. 48

29. The LCM of a*+b® and a*-b* ig

a. (a®+b’*)(a-b) b. (a®+b?)(a-b) c.(a+by?® d. (@+b°) (@*+b?*)(a-b)
a’+b’ommid a*—b*- a1 6FFM OuUTEk OLMIG :
a. (@®+b*)(a-b) b. (a*+b*(a-b) c.(a+b)y®* d. (@®+b®) (a®>+b?)(a-b)

30. Temperatures are recorded every 1 hour for eleven hours from:6.00 am
onwards in a town. The averages of the first six readings.is 30°C the last six
readings is 20°C and the overall average is 26°C. The sixth reading is
a. 25°C b. 15°C c. 14°C d.26°C

Qb PSSP0 HTewev 6 Wwawil (PG @, il CEISHHE @k o, 11 wewf
Ghyd, Geulil Slee] HewISSIL LGS GIBELL(PSH60 . 6 Geulil  Sjemeydeilesr FIma

30°C, seLdl 6 Geuln Seneyseien ggma 20°C, wBmId Smeibadl Geulil
olenayseient Fyrafl 26°C  ou@Ibs SIS ILULL 6615 Oeullll 66

S LD.

a. 25°C b. 15°C c. 14°C d. 26°C

31. The first summit of the Forum for India-Pacific Islands Cooperation (FIPIC)
was held in:
a. Jaipur b.Suva  c. New Delhi d. Port Moresby
BT uFls HaBeT @HHMPLIL] LSBHHET (PHeo o FF IHTH BLbHD
®L_1D
a. Ogquiy b. geur C. U&lgHeved d. Gumim’ GomiTervenL

32. Which one of the following nations has faced severe economic crisis in the
year 2015 resulting in default in repayment of IMF loan?
a. China b. Greece c. Ireland d. Belgium
2015 b gpewiiged  QUTHENMTHTT Bl OBmHSHY gBUL(B, FTeuGHg [Hrewwr
BHHwSHHD  (IMF) Gubp sLwer QFbs  (WQWToed  Heuteored BT

a. deorm b. &iferd C. owireonhgk  d. Guededuid
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33. Match the following;:

List 1 List II

(Local storms) (Area)

a. Mango Showers 1. Kerala and Karnataka

b. Norwesters 2. Bengal

c. BardoliChherha 3. Assam

d. Loo 4. Punjab and Haryana

Code:
a b ¢ d

A.l 2 3 4

B. 2 3 4 1

C.3 4 1 2

D.4 1 2 3

QUTHSHHIS:

U guieo | U iguieo 11

(2_6TteTHT  LUIGLEH61T) (L&)

a. LDT@EhIM6L 1. Gxyenm OB®ID SHTHIL ST

b. mrTG6ueOLT 2. QUBIBTEIID

c. uTBxmel G&Tamm 3. 9lerenid

d. eur 4116haTI OBEID  emfluimesTT
a b ¢ d

A. 1l 2 3 4

B. 2 3 4 1

C.3 4 i .

D.4 ¢ 1 2 3

34. India entered the “take-oft” stage during
a. 3d five year plan b. 5t five year plan
c. 8th five year plan d. 10t five year plan
AhHwmaled aHFHLE  sTevsHHer  Curgk  Gwed  elpeugsBETHT  DBIGHMH
OB L g7
a. 3eugl MbaTawihdh H L b, Seum MHHTHIGH Hi LD
C. 8augl MbFHTewihdh S L  d. 106ukH DMHSHTHIGSH Hi LD

35. The Country, which was admitted to the membership of the United Nations

in July 2011, is
a. Macedonia b. Montenegro c. Andorra d. South sudan
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2011, #8em60 LOTHID, .M. DEMWOLILNed o milenTs Semenihsd BThH 6157
a. WwradCLmeflwim b. GurewtGL GesrrECym
C. SjewrGLmym d. GamE @Ler

36. The equivalent rank of Commonder of Indian Navy in the Indian Army is:
a. Brigadier b. Lieutenant Colonel
c. Colonel d. Major General
AhHw SLBUMLUTD HCLOTHT eleiad UHANHG HHITH, SHSHW JTamialdHe0
GEIUIGL ugal egl?
a. LMGsiguiir b. Qeurngesei &Gs0menTeD
c. &Bsumeurey d. Gt Ogeryed

37. Match the following

A. Diwan-i-Arz 1. Finance Department
B. Diwan-i-Rasalat 2. Correspondence
C. Diwan-i-wazirat 3. Military department
D. Diwan-i-Irisha 4. Religious Depatment
Codes
A B C D
a.3 4 1 2
b.4 3 1 2
c1 2 3 4
d1 2 4 .3
CUIT(HSHSHIH:

A. Flaure-8-9jter 1 pFHHa60n
B. gleumeii-@-yameorr 2. MIT6UTHLD (HTETTEIT)
C. gauner-8-aurdlys 3. @yramieud Hiewm
D." gainer-8)-Qeragm 4. 1FHFHWITET Hiewm
GSMIUIBH6NT:

A B C D
a. 3 4 1 2
b. 4 3 1 2
c. 1 2 3 4
d. 1 2 4 3

38. Which one of the following Indian leader was dismissed by the British from
the India Civil Service?

a. Satyendranath Tagore b. Surendranath Baner;ji
c. R.C. Dutt d. Subhash Chandra Bose
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LeteupUeTH@H6eT  BhHwd GgenwliLeniuled SmbaH  hISGeowgmed [HaHsLD
Ceuiwlu’ L. @b HEWeveUT wImT?

a. §5FHCUHATHTSH HTET b. aBypbdymrd LTenTed

c. RC. 55 d. suteay hdy Gumerd

39. Who among the following was President of the All India States” Peoples’
Conference in 19397

a. Jaya Prakash Narayan b. Ambedkar

c. Jawahar Lal Nehru d. Sardar Vallabhbhai Patel

1939860 HOLOUBB DiFev BbHHUl OTHIeVHIBETEN LD&S6T LOTHTL Q6  WITT?
a. CuWUITsTad HIFTUIEHT b. ouGugsT :
C. 2euamieuTed Gn(m d. #7amm euevevLTUl LI GL 6D

40. 5g of sodium chloride is added to 100 ml of pure water. The surface tension
now
a. increases b. decreases
c. remains constant d. decreases of first then increases
5g Gamguwib @Cemmeng® « 100ml gmw | Bfed T CaEslLGS GBS, LT
BSapalewaullenr sBGUTENSHWI OFHLIL|
a. oFHsfsGn b. @emmpuyd
C. LOMMBISI d. wseded Gophal e DiFHsMbEH0D

41. The first term and sixth term of a G.P and 2 and 486 respectively. The sum
of its first six terms'is
a. 628 b. 828 c. 728 d. 928
(PGH6L ©_MILL| 2 eleielD SYWMD o M| 486 eIQIBeUTmID DMWHS OLIHH G
L Ment (1pH60 6 2 mIIF6Ten gnBSH60.
a. 628 b. 828 c. 728 d. 928

42. 1f 40% of 1640 + x = 35% of 980 + 150% of 850, find the value of x

a. 1052 b. 842 c. 962 d. 372
40% of 1640 + x = 35% of 980 + 150% of 850,x-651 wHiemnLl HTewIH
a. 1052 b. 842 c. 962 d. 372

43. The population of a city is 5,13,200. If it increases at the rate of 12% per

annum. What will be its population after 3 years
a.7,12,009 b. 7,10,029 c. 7,21,009 d. 7,92,100
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44.

45.

46.

13

QRH BBIHHET HHNMOBHTMS 5,13,200. Bz aUBLSHBEG 12% s aldsHdhde0
© WIMhHTeD, cpeii@l  UBLMBISEHSG LB  DbhIIHHT  HH6T0HTnD
6TGUTGOTOUTS  B)(HEH@EHID?

a. 7,12,009 b. 7,10,029 c.7,21,009 d. 7,92,100

When 24 is subtracted from a number, it reduces to its four seventh. What is

the sum of the digits of that number

a. 1 b.9 c. 11 d. 10
QU eTewienllell(hhdl 24-m5 HPHGWD CuUTH, DIH DbHFH 6T6MI1601 65T ;LDI_FSIaSITBs

GMBHBH. Db elewieniel Qevdbdbmibee FnbBHe0 WTgH?
a. 1 b.9 c. 11 d. 10

Five boys A, B, C, D & E are sitting in a park in a circle;; A facing south

west. D facing south est. B and E are right opposite to Avand D respectively

and C is equidistant between D and B. Which direction is Cfacing to?

a. West b. South ¢. North d. East

am ymstaled A, B, C, D wBpid E eaid @bal OTewiauTseT el L 6l96aldde0
SIDTHHleTeNerT. BeuTaeled A elanid WTewiolF GHaGIGBend LIMTHSID,D  elanild
LOT6WTAUT  OFHTHIDHNBLI  LUTTHSHID  SioThglemenent. B wompid E  erenibd
omewialTaer A wBpid Dé@ Bhi adlynes o etenent. Guweuid C 6leild LOTewIAIT
D wppib B &g gwbstmealsd @milar C  eanid oTewauT 6IdhdHenaFemul
Grréhal @ mUImT?

a. Gumg b.. 0xmE C. QLG d. SHpss
Match the following :

List-1 List-II

(Procedure) (Year)

a. short duration discussion 1. 1964
b. calling attention notice 2.1962

c. Zero Hour 3.1953

d. Committee on Public Undertakings 4. 1954
A B C D

a 4 3 1 2
b 3 4 2 1
c 4 2 1 3
d3 2 4 1

| Page




Leireu(meueateuBenml! CUM(HSHHIs :

Ul iguied - I U iguied - IT
(BewL(pemm) (wew1(B)
a. P HTev aleursd 1. 1964
b. &euet FilILE SHTIOTEID 2.1962
c. umui Gryid 3.1953

d. Qungs FHemB PoelemhiseT GaTLTuTer &g 4. 1954
A B C D

an oo
W o W o
N N R W
NG G QS
_ W RN

47. A resolution for impeaching the President can be moved at least 14 days
notice signed by
a. Not less than 50 members of the House
b. Not less than two-third of the total number of members of the House
c. Not less than one-fourth of the total number of members of the House

d. At least 100 members of Lok Sabha and 50 members of Rajya sabha.
GWIEHSH Hmevauem] LGHel BHSD OCFuiusmaeredr @@  HToTEIHend  WMT
mBOWWSHFH L LB GmBbHSUILFD 14 BTL&6T &SLbHSH LIBE OsTemh 6y
(LpiguyLb?

a. owalwler 5056&5 GMBWTSH 2 BILILTerTHeT

b. omauiear GTeHs o piilamsefled cpamled @ewih URIGHGHS GMBUTSH

o mILILI6OITH6IT

C. omeuwler Orshsd o pIiilamseaisd [HTEIH6E0 @ URGHGHS GSMBUWTSH
9 MILLIGTH6IT

d. @ophsul Fib 100  whseremeal o pnleneel  BHID 50 DTH6EVRIG6TEm6!
o mIIeTHel

48. The process of maturation of erythrocytes is due to

a. Vitamin B> b. Vitamin B c. Vitamin Bs  d.Vitamin E
et 2 FHalwmed 6fgHErmengl hder (WHTFH DiewL Sleiment?

a. ol 1dedr B12 b ol L 1Oeor B1

c. el Lwer Bg d. el Ldenr E
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49. In which of the following the president of India is not bound by the advice
of the council of Ministers?
I.  The choice of the Prime Minister
II. The dismissal of a Government which refuses to quit having lost its
majority in the House of the people.
III.  the allocation of business
IV. the dissolution of the House when appeal

a. LIl and III b.LI[,and IV c. LlllandIV d.II IIl and IV

Wettoupd  GQuIpLHelled  6b®h  GUTHaTled DiewwFFTevauule  SHLEeuTFemneTEnU

GLWIsFSH HemevalT UeiuBnl bBL&s Ceuewnoul Hieudluid Ee0enev.

Luiysw whafl Czxiey

II. wassenemauuied GQuUEHDLTSI®DMW  ohsh LIS, i Hevul’ BipdHs
LOBISGSGHD DIJnFdH HMEOLILISBE

.  uewll easalL

IV. Gwed pemmuil paiCUTSHI  SinalemUIs HeMeVSHH60

eiteupld @Mluibeeaments LweuBsHs shwmear alenlenulsd CHTHoHbHHHa|LD.

a. I, IT iommnb 111 b. I, IT wmpd IV c. I, 1T wppud TV d. IT, 1T wspinw 1V

50. The 73r4 Amendment of the Constitution provided constitutional status to
the Panchayati Raj Institutions.
Which of the following are the main features of this provision?
1. A three tier system of Panchayati Raj for all States
2. Panchayat election in every 5 years
3. Not less than.33% of seats are reserved for women
4. Constitution wof District planning committees to prepare development
plans
Select the correct answer using the code given below :
a.1,2and3 b.1,3and 4 c.1,2and 4 d.2,3and 4
736ug DIFFWUMIDIILEF  FLL HH(HHHHHIY LiehFTWSHHITTEY  DIeHLOLILHEHESE)
SIFFUWIGVEMIOLIL] DIRISHTTID QUPRIGBLILL (HETT6NS.
SIS UBMIGT DbSH eUHleuamBUNGT (LPSHSBIUILDTET DIDFHRIHT 6T6n6u?
1. SIwansHd oTHemIS6TNeID cpeBhehE@ aym & el (Lpewm
2. RHHTWBEG PHUPB 2aTidH CHTHe0
3. 33 F3elp B MESEHHEG GHMBals0e0mne0 OLIHIHEHDHE Bl @HIHHH
4. (pICHIMBHHI L RIBemend SWTHSHHIL iU’ L FHLd GHDHHMENT HIeHLDSHHED
FMWITEIIENE  6TEN6L:
a. 1, 2 By 3 b. 1, 3 wBpd 4
c. 1, 2 ompib 4 d. 2, 3 oBmib 4
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51. “Momentum remains constant in absence of external force” is statement of

a. Newton’s first law b. Newton’s second law

c. Newton’s third law d. None of these

“Upalmgwmbp GFwedLBbeuemy Sienloliler o b il QLG 6L
a. Pl Leler (peHed el b. Pl L eflesr @gewimbd alg)

C. Pl L el cpamrd alg) d. GuBsemiL gl &s0enev

52. Consider the following statements

Assertion (A): The effect of labour participation in the Indian nationalist
upsurge of the early 1930s was weak -
Reason (R): The above leaders considered the ideology of Indian National
Congress as bourgeois.

a. Both A and R are true and R is the correct explanation of A

b. Both A and R are true but R is not the correct explanation of A

c. Ais true, but R is false

d. A is false, but R is true
Leaupeuemeuiens Ui
aBp (A): @bdHwu G BuisssHed 19306 SlubssdHded OCFTievmeniTsere
LIMISBGITILIL]  6uaVIaTDHSH S
smpenid  (R):  oiper  smevaiiser @hHwu  Cpdw  smmdyder  Csmerams
W&HeorelldHgied CBTeTenD . 6160188 (THS60TT
a. A ovppib R afl R _e6aiig A-alB@ silwmer alendasid
b. A wppid R & R eeug A-alBg sflwmer elerdainedeo
c. A gfl gemed R seum
d. A seaum spemed R gl

53. The last opportunity to avoid the partition of India was lost with the
rejection of:
a. Mount Batten Mission b. Rajagopalachari Formula

c. Cabinet Mission d. Wavell Plan

asGualemer  HImaflsssTed @b  Ufalmeaiemw  SHUUSBSTET  HeoL &
uTUIlIemUILD @hHWT SbSHH!?

a. Oweresn Ui L6t @D b. ®yreBsmumeorgFamh HiLib

c. Gallan @y d. Geuaued S Lid
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54. Consider the following
I. 70S type of ribosomes are found in all Prokaryotic cells
I1. 80S type of ribosomes are found in all eukaryotic cells
III. Ribosomes act as the protein factories of the cell
Which is/are correct?
a. I, III b. III only c. IIT, 11 d. I I, IIT
LTedTeu(HeueTeUBeNMm  &H660T:
I. 70S auemas eny@UTBambH6T Siewershd LGITCasMNGWIT (hoeilanid SHTewlILI(BHH @B
I1. 80S suemy ewyCUTCamMbH6T Siewenndhal WBHNGWIT Boeilenid STemr LGS BS.
III. eny@uBambselT LIsH OCHTHBFTNe0H6MTE 6FUIGOLIBE6TB60T
aixl [/ etemeu &ifl?

a. [ ommp 11T b. III ot (Bib
c. 11T wmunp 11 d. I, Il wppo 11T

55. European painting was introduced in the court of
a. Humayan b. Akbar c. Jehangir d. Shahjahan
CrmUIW @elwmiseT WihHmLU SDIFFmauuled DIBIIPSDd GFuwiriul L g)?
a. enilmuyesr b. oL C. &BTHIST d. egTmsTes

56. A man earns Rs.28,000 as monthly salary. His expenditure and savings are
given in the diagram. The percentage of savings compared to food

% 13%

Entertainment - Rent 20%
Travel
15%

Savings

a.33.1% b. 33.7% c.33.2% d. 33.3%
(heufledst  1OTH  eu(BLDTEID  5.28,000. SleumHedL W  OFevalenpd  CaFOLID
UL SO CaThdsillLerengl. o eavalBgl CauillliBgl o aTem aldlgbd

17 | Page




7%
QurpgCurés

a.33.1% b. 33.7% c.33.2% d. 33.3%

57.1f a man runs at 3.7 meters per second, how many kilometers, does he run
in 1 hour 30 minutes?
a. 18.98 kms b. 19.18 kms

c. 19.88 kms d. 19.98 kms

QHAUT, b alemeshd 3.7 WBLLT Cousdhaled elgemmed, 1 wewi 30 HIOL Miseied
&L HGID SHJD WTHl?

a. 18.98 &6 b. 19.18 &.if

C. 19.88 &1 d. 19.98 &.15

58. Find the next number in the sequence:

1,7,33,159,785, ........

a. 944 b. 1570 c. 3911 d. 626
eteud COFmiitarflenguller oIBHSH 61601 HT6wIsH:
1,7,33,159,785,.......

a. 944 b. 1570 c. 3911 d. 626

59. The results of the examinations in two Papers A and B for 20 candidates
were as follows:
8 candidates passed in A
7 candidates passed in B
8 candidates failed in both
Out of these candidates one is selected. What is the probability he passed in
both the papers?
15 b, 3 4 4

C. —

a. — L
20 20 20 20
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20 wrewieuseler, @rewi® SHreider A wmmd B uler GxiTey  Oeueiluilp
alleuTLOT6IS)
8 memeuTdseT HTem A 60 CHTFH GBI
7 rewieuTder e B 60 Cxi&d GummBentT
8 LoTewTeuTaHe @Fewnigeud CaHmeval SienL [HeolT
BFHeVmbHAH e WTewiesl C&HiTey OGFuwulLTed, Sleuet @Fewriged GaHiTFd
CuUBBI(HhES HBLHHE| WTH?
15 3 4 17
a. — b. = C. — d. =
20 20 20 20

60. In an examination for every correct answer 2 marks are awarded for every

wrong answer %2 mark is reduced. If a student all 120 questions and secures

45 marks then the no of correct answered questions is

a. 45 b. 42 c. 36 c. 38

R  GCxialed  galOeut . gflwrer  alwLdéE - SFewih . WHICILICTEIS6T
QULDBISLILIBHBS. PRI SHEUMIT6OT DL HG Ya LD 1GLI6T
GOBEBILGSHBSHI. @(H DTSR DiwaisHd 120 alemeddehdGHD allenl w6l
45  HUCUIBMmeT CUBIGSIBTET sleled; &FTWTS @ aledLweldHd alenmdserier
61630160011 86M &

a. 45 b. 42 c. 36 c..38

61. The 2nd Administrative Reforms Commission has produced Reports on :

1. Ethics in Governance 2. Local Governance

3. Combating Terrorism 4. Eradication of Corruption
Select the correct answer using the code given below:
a.1l,3and 4 b.2,3 and 4 c.land2only d.1,2and3

21D bITeuTs FTHhSHS SLENEITUILD GeuerluiL (HeiTer SIBHemnBUT60
BHIDBENTL MAIH6T60 eTauBenm LiBMluig)?

1. 9 g Cppsl(wenBasei

2. o eienMl_ g SJFTHISLD

3. LWRISTUTHSHMS 61HTHH GumilBhaHed

4. oaiped @LOILIL]

Spsemil GBuibhseiled Amba giwmer almLemul CHTHOH®:

a. 1, 3 opmb 4 b. 2, 3 wByd 4

c. 1 woBpd 2 d. 1, 2 wBpid 3
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62. Homi Jahangir Bhabha, the father of Indian nuclear programme, was also
the founding director of which of the following institutes?
a. Tata Institute of Fundamental Research
b. Indian Institute of Science
c. Indian Institute of Technology, Mumbai
d. Saha Institute of Nuclear Physics, Kolkata
LeiTou(hd  HBIUTEIGH6T60 61HBES BBl SUISGHOTEHaD BhIHU  DiemIchas(H
FHLLSFHe FHHowd CammimelmsT UTUT SmHbSHTiT?
a. LILT Sugliuenl. SITUIFS Himieuetd
b. @b Spfaluied HmieeTD
C. @phaHu CHTHEOHI LI HIBIEUETD, (LPLDemLI
d. gremr SemiGEas®m SuBLiuwed Bupleuetd, O&Te0EHHT

63. Gadgil committee appointed in July 1963 to look into
a. Co-operative farming b. Ceiling on land holdings

c. Tenancy legislation d. Measures to.abolition of intermediaries
o660 19639110 eI HUIOSSLILL L STLHD GU) THIL 81 OHTLTLeDL WgI?
a. dnl (BBe)] LIevTeneut b. Mev ©_&&FauridL]

C. HHMBF FLLID di @ HFHTHTHMET QOLILISBEHTERT  SI6T6Y BT

64. If the absolute temperature of 'a medium is made four times its initial value,
the velocity of sound will become ( its initial vaule)

a. same b. 2 times c. 4 times d. 16 times

ol _HHIHler . HaleuliLbleney  UILSH  AEHms  Gumeo 4 LmIG
BB LTD @edulenr Geausld (pHelled @ HHHH GCuTey)

a. &b b. B0l kG C. 4 IDLMEIG d. 16 wLriG

65. Which of the following factors does not cause ocean currents?

A. Prevailing winds B. Rotation of the earth

C. Revolution of the earth D. Temperature differences
BHIDHBHEWIL BHMJENH6IMN60 61& HL6O HOITLLID 2 (HeuTd STFeiuTd Be0ensv?
A. QDS HIOTET  BTBBIGH6NT B. yduflerr aipmd

C. yifl @flwener 660D &I(HH6L D. s uGeaui Blene OTRILITHESENT

66. “Make in India” initiative was launched on
a. 23rd September 2014 c. 24th September 2014
c. 25th September 2014 d. 26th September 2014
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“@haHuralsd GFuIGmbd” (2_Heautd&Gambd) SiiLb OHTLMmISIUILL  [HT6l
a. 23 GauLbur 2014 b. 24 GguLibur 2014
C. 25 Qaubuir 2014 d. 26 Qguibur 2014

67. The ‘Great Burkhan Khaldun Mountain” which has recently been granted
world Heritage site status by UNESCO is situated
a. Mongolia b. Kazakhstan c. Russia d. Tajikistan
gifugHev  WGemer08asm  (UNESCO) eppeold o v umpbufiw  oibserdg  QuBms
“@BIL LTHTEI SH6OHTEWI LD6N6V 6IRIEG DIMLOHSHIETeTSHI? ,
a. LmIBsmedwm b. asmsevsTe
C. ge{uim d. sdfervsmet

68. Match the following

A. Leaf tendril 1. Opuntia plant
B. Leaf Spines 2. Pitcher plant
C. Leaf Surface 3. Utricularia
D. Bladder 4. Pea plant
A B C D
a. 4 1 2 3
b. 1 3 2 4
c. 2 4 3 1
d. 3 2 ¥ 4
QUT(HSHHIS:
A. GemeuliLBmisaIL] 1. gliungHobseien
B. ®emev (1ol HoiT 2. GbHmaldh SHTeUTLD
C. @emev Lyl 3. Wl M@Geurflum
D. emu 4. UL Lmevf
A B C D
a. 4 1 2 3
b. 1 3 2 4
c. 2 4 3 1
d. 3 2 1 4
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69. Which among the following is/are correct?
i. All India Depressed Classes Conference (1920) - Maharaja of Kolhapur
ii. All India Depressed Classes Association (1926) - M.C. Rajah
iii. All India Depressed Classes Congress (1930) - B.R. Ambedkar
iv. All India Depressed Classes League (1935) - Jagjivan Ram
Select the code for correct statements:
a.only i b. ii and iii c. only iv d. i, ii, iii and iv
LaTaumeuetouBmieln 61&l / etemeu &ifl?
i gdo @hHu STLHSILIL  BEID  IBUGSSILI L eIGUIaTHEBST6
Sl (1920) — GCseLaUBITLLT LDABTITEIT
1. oo @haw STpSsULL L  wBgd UBubSsiulL  euGUUlelmHoaTe
gmisld (1926) — M.C. @ymregm
1. 9iFlev @bHw  STHSSIUCL  BDBILd  BUGSSLILULL . eUE LIS S T6r
gl Lenioliy (1930) — U.oT. o1bCusH T
iv. gdo ShHu SMOSSUIIL  wBpD (BUGSSILTL  aGLIeTHEHSTe
Gl Lewoli] (1935) — endbadeuest LD
a. 1wl B b.ii @b 1ii c.1v 1o (BLb d. i, ii, iii w@md iv

70. Match the following

a. East India Association 1866 1. Sisir Kumar Ghosh
b. India League 1875 2. Ganesh Vasudev Joshi
c. The Poona Sarvajanika Sabha 1867 3. Ananda Mohan Bose
d. The Indian Association 1876 4. Dadabhai Naoroji
a @R c™d
AWRBENr1 4
B4 1 2 3
c3 2 1 4
D1 3 4 2
CUIT(HS SIS

A. ApsIbHHul Hpsbd 1866
B. @bg5w swsd 1875
C. yeom Froumels Fenu 1867

D. @bgw gl Lewoliy 1876
a b ¢ d

F Gt Carad
&Ceaad auTaBmhel Cxmadl
aebd Corser Gumerd
STHTUTUIT GIHenGymey)

o=

A.2 3 1 4
B. 4 1 2 3
C.3 2 1 4
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D.1 3 4 2

71. On a certain sum, Compound Interest and Simple Interest for 2 years are -

520 and * 500 respectively. Find the principal.

a. Rs.2500 b. Rs.3125 c. Rs.5000 d. Rs.12500

Qb GBUILL OOFHTmHHE, 2 UMIBIEHHEG B 6eully LOBBID FTHT]6wT
ally opFlwemel  (pedsGuw  @h.520  1oBmID  @h.500  SGLD. DIF M6V
HewT(HLIQHBH|LD.

a. Rs.2500 b. Rs.3125 c. Rs.5000 d. Rs.12500

72. If TRIANGLE is coded as SSHBMHKF then SQUARE would be coded-as
a. RRIASFb. RPVBSF c. RRTBQF d. RPVBSD
am FH8xhs GomPuied, TIRIANGLE eanib eunrdengsy, SSHBMHKFetesim  wommins)
qaaILGIBE. BmsliCuTevBas SQUARE  eanild  auniigengenul  eleleumy
LomBmIeuTul?

a. RRIASFb. RPVBSF c. RRTBQF d. RPVBSD

73. Calculate the Standard deviation from the following data.
12,10,9,6,3

a. \5 b. V10 C. 52 d. 10
Leiteu(hB I8 OFHILBEHHEG H LalevdhsD HTewmrs.
12,10,9,6,3

a. \5 b. ~10 C. 52 d. 10

74. The length of a rectangular plot is 5/4 times the breadth and the area is
16/5 hectares. Calculate the Perimeter of the plot.
a. 160m b. 200m c. 720m d. 360m
QM OF6leud agal MeOSHHT [Hold, DB DHBVSHMSL Bumew 5/4  LEIG
OIHBID LG LD. OBt uglitene] 16/5 QamndGLTserr. SbFH  HeVdH D e0r
SBmeTeneud 86wl [BLIIQSHHLD.
a. 16018 b. 20018 c. 72018 d. 3605

75. 94 is divided into two parts in such a way that the fifth part of the first and
the eighth part of the second are in the ratio 3 : 4. The first part is

a. 28 b. 30 c. 36 d. 40

94, @pewih UTERISNMTHI LINSSULUGHBEH.  DIHET (PHEL LTHSHH DQMbHTLD
UGSHUWD, @TeWILTD UTHSHSHeT 6ILLTD UGHUWD 34 eeim aldHsHhdHed o _eiTereo.
e UGS agl?

a. 28 b. 30 c. 36 d. 40
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76. Find out the correct pair

States Folk Dance

A. Assam - Panthi

B. Uttarpradesh - Saang

C. Gujarat - Bardo Chham

D. Jammu & Kashmir - Dumbhal
SHEUDBTET EENEIIENUILS BHIT60IH

LOM[Bl6VLD [bL_60TLD

A. ®jerveromd LIh &)

B. 2 585i5Csa1b TR

C. o115 LT@HT FmID
D. sibap smedit HIDAMBT6V

77.Who was the first well known exponent of Algebra among Indian
Mathematics
a. Aryabhatta b. Brahamagupta c. Varahamihira d. Baskara

BhHws SHenlGHalulelled DUBHNHHHED (PHEN(LPHe0TH DNSIEhITHSH HBLDHSHEUT
wirrir?

a. oyflwucem b. yb@GLiSHm c.augnasdyr  d. umervsyT

78. Arrange them in.increasing order of acidity
a. H,PO, <H,PO,<H;PO, . b. H,PO, <H,PO, <H,PO,
C. H,PO, <H4PO, <H,PO, d. H,PO,<H,PO, <H,PO,
SlblevHSHaenuler guiauflengulsd 61(1DSHIH.
a. H,PO, < H,PO, <H,PO, b. H,PO, <H,PO, <H,PO,
c. H,PO, <H,PO,<H,PO, d. H,PO,<H,PO, <H,PO,

79. The Gupta ruler who repaired Sudarsana Lake for the second time
a. Vishnu Gupta b. Rama Gupta
c. Budha Gupta d. Kumara Gupta
SHTFDID ghenul @TeiLTau Hl (LPedBUWTS LUSHIIINSHSH &L HFSFT wimit?
a. alaeIGLIST b. gro@GlisT
C. USTGUHT d. gwmelst

80. Pure Tamil Movement (Tanitamil I[yakkam) started by Maraimalai Adigal in

a. 1918 b. 1905 c. 1916 d. 1925
SHMHBLOD BUISHHmS LDMBLOM6LWIGH6T CHTBMIaNSHSH aU(HL LD
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a. 1918 b. 1905 c. 1916 d. 1925

b. Consider the following statements.
Assertion (A) : The special session of the Indian National Congress
held at Calcutta in September 1920 defined the objective of the Congress
as the attainment of Swaraj.

C.
Reason (R) : The Act of 1919-did not offer Swaraj to the Indians.
Select your correct answer
a. Both (A) and (R) are individually true and (R) is the correct explanation of
(A)
b. Both (A) and (R) are individually true but (R) is not a correct explanation
of (A)
c. (A) is false but (R) is true
d. (R) is true but (A) is false
SDSHHENWIL 6UTE | ULIMIGHEN6NE BHeU6D
BB () @ HLSHSHITAN6D GEFIL DT OTHW 1920-10 SewiB HeoLGUBB EbHlul
Capdlwd
&,%réjaﬂuﬁﬁzir fply Sl LGP0« HelelT & Oupleus  STRSTSET  (phalul
@gﬂé&@asrrmﬁ 61601 (1196 @&u'_lu_ujul'_l_@

SMJe0ID (&) : 1919- SLWIBHF | FLLID mrr&()%} . eIl &Flepul
S éﬁ’lﬁ%ﬁ%\)‘%” g mrrmamsuasm LOBMILD &M FulImes NBBHHMD Tn HG

&rﬂtﬁr\%@fg’@%@%@ BCahO& (:
b. & wBEpId &T SflwrelemalseT opemed &1 Fllwmer oleandsEsHmd g H&
9161 SHHal606m6D

C. &n SHoUMI LET60 ST &ifl
d. &1 & SLemed gn Heum

82. “The individual must die, so that the nation may live. Today I must die so
that India may win freedom and glory” - who said?
a. Bala Gangadra Tilak b. Bagath Singh
c. Subash Chandra Bose d. Mahatma Gandhi
“BTH UMD SHONBLUT EBeHH6UTID. 616 LDFeIHHeT clpeold DbHHWTaIBEG alBHem60
BB GLIHEWLD &HlewL SGLID 6leNed eIl HTesT DBUIGLIET — 6T FnmlULIeUT
a. UTeL SRIBTH] BHe0HiT b. ussHdm
C. suTad FhaHyGumerd d. wsTHIT BMHS
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83. Which one is wrongly matched

A. Liverworts - Riccia
B. Hornworts - Anthoceros
C. Mosses - Funaria
D. Anthocerotae - Marchantia
LeTeu(hHeueeuBmIe 615 SHoupTad CUTHbHSHUleTenS)
a. FJ60 6UIQaILD - Mdendlwm
b. QambL eugeid - HBHTEFTTerD
C. LDGIDGM6YD - 1wy Georflum
d. oubCxsTeaCym Gl - oM eTaUIT
84. Who among the following has authored the book “The Idea of India’?
a. Khushwant Singh b. Shashi Tharoor
c. Sunil Khilnani d.William Dalrymple
“& pumr .l SHHWT’ 6B LsHHDHH D el @pFfluiT wim?
a. Geelbd Hmi b. 56 Frami
C. Gafed &leome d. efevadlumb 1 melflibLied

85. Which party emerged as the third largest party in the 2014 General
Election?
a. Indian National Congress b. Bahujan Samaj Party

c. AIADMK d. Trinamool Congress
20141D, oyemip GLITEISH CaHTHeved cpaiipTaugd Ouflwd sl Fwns Oeuaful L &L d
o11?

a. @bglul Capdlw smmIslTernd b. UG FoTy &Ld
C. 9BF(WH d. SHflewmmelped SrmISTorD
X ~ y _ z o .
86. If iy (21D iyiZd) a, find the value of a, where (x +y +z) =0
a. X b. ! .t d.t
2 3 4 6
x v U o |
(2X+y+2) (X+2y+2) (X+y+22 aciafisd (x *y +2) =0 @elr gy e
a. X b. ! .t d.t
2 3 4 6
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87. An employer reduces the number of employees in the ratio 8 : 5 and
increases their wages in the ratio 7 : 9. As a result, the overall wages bill is
a. increased in the ratio of 56 : 69 b. decreased in the ratio 56 : 45

c. increased in the ratio 13 : 17 d. decreased in the ratio 17 : 13

QU  (PSHeVTe  HETeDIML Ul  LIGnIWTeNTHeMeT  clenienlldbamdenul  8:5  6leiiB
B HHH6L  (FHDBHSIMITT. 965 gwwwib euTseler omgluisHmed 79 616
AP HHFH60 2 WTHHHBIT.  DFHel alenemeuTd @ HOITHS 2mgHuIl LI IQUIED
6TEOTGUTGUT(GHLD?

a. aldsd 56 : 69 & DIHHMNHGLWD b. aldsid 56 : 45 SuF GHOBUD

C. al@dlsd 13 : 17 g5 DFHslsE) d. eldlsd 17 : 13 o6 GOBUD

88. 2820 is to divided among A, B and C such that 3 times A’s share is equal to
4 times B’s share and 5 times C’s share. Find A’s share?

a. 1200 b. 950 c. 705 d. None of these

.2,820 A, B ioBmib C sydluieiiseaiont G 1fssiubang. i A6 cpeim
Uk Ber mreng umiGa@D Cel &mbghl URIGSHGW &b, AT LkIF 6l6iTen?
a. 1200 b. 950 c. 705 d. @meu g&ILe0meL

89. When a plot is sold for Rs. 18,700, the owner loses 15%. At what price must
that plot be sold in order to gain 15%?
a. Rs. 21,000 b.Rs. 22,500  c. Rs. 25,300 d. Rs. 25,800
QT o  wewermuwl 518,700 &@ elBed  Gursk  15% Fpeisbd
bl oLdBrT. 15% Seomud  Hesas  Ceuewi(hid  eTefled  DDLOENETUT DT
eTeuelaNe)] apuUTU1SHE alBs Geuewi(BLD?

a. Rs. 21,000 b. Rs. 22,500 c. Rs. 25,300 d. Rs. 25,800
900, -+ 1 1t ., 41 =9

V2+1 \B+42 Ja+3 NCENE]

a. 142 +3+V4+.....++/9 b. V3+65+7

c. 105 d.2

OS] SHT6EwIS: t 1

V2+1 V3442 4443 J9++8
a. 1+V2+3+V4+.....++/0 b. V3+/5+7
c. 105 d.2
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91. Match List I (Biosphere Reserves) with List II (States) and select the correct
answer using the codes given below the lists :

List1

a. Simlipal
b. Dehong Debang

c. Nokrek
d. Kanchenjung

a
Al
B. 4
C.1

D.4
LI 1QUI6V

QUT(HSHBHIH

LI 1QUI6V

a. ibeVlLITe0

b. wa&mul 1QuUTE
C. Br&bys

d. sehFaiegmIsT
5. Gsmeowr

a
Al
B. 4
& 1
D. 4

W W O W o

I

b

W W, U1 W

(NS RN \O RO Q]

5

[-&_e1

(O BN \O I \ORRG N o}

N S N oY

List II

1. Sikkim

2. Uttarakhand

3. Arunachal Pradesh
4. Orissa

5. Meghalaya

(2_ulTd@smen  smiuUsD)  Uliguied  [I-:m

= O,

L iguiey 11

1. fléaib

2.2 GHFHTHTeNI

3. gmewgFev LIgBxma1D
4. eflerom

92. During Sangam Age, Sati was prevalent among
a. Kshatriyars

c. Higher Strata of Society

b. Lower Strata of Society
d. None of these

FRISHTVHH F&H wWmflen G HewL (pemmulled B mHHHEHI?
a. FHIHMNwirser

C. Bedal B FpdsHHe0
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93. A parallel plate capacitor has capacitance of 10 xF. Now an insulator
(dielectric) material is introduced between its two plates whose Er = 2. Now
its capacitance
a. increase to 20 uF b. decreases 5 uF
c. becomes zero d. remains same
R Bement HU Baefler 10a@BhiHuller 10a8Hba wH 10uF sBGurg Er =2
R  WAISLSSTI  GuTheT S BHEHSImLC  meubs LGS amg. SBEUTH
L0 6ITGHEEH S FHMm 6ot
a. 20 uF a3 HIIBE SIHBMoHESID
b5 uF e WHIIBEG SDBHSBEGLD
C. UMaUILDT(GLD
d. @8y oeneams BHEHGLD

94. The building blocks of proteins are

a. Fructose molecules b. Amino acids

c. Fatty acids d. Galactose

LG meeiiselT 61H60ITeD  £601606)?

a. . .LysGLmerd b. ouGerr  SibevBIH6IT
C. QBmapliy SIOleLBIH6IT d. smeusGLmerd

95. Match the following

A. M.P. Singh 1. Hero of Green Revolution

B. C. Subramaniam 2. Architect of green revolution

C. M.S. Swaminathan 3. Father of Indian green revolution
Ag i C

a. 1 C * Y

bRgh % 2

c. 15w 2 3

d3 2 1

CUT(HSHSHIS

A. .9, Fml l. usenwo Yyl duler BTwST

B. 4. aligwemwiwid 2. UMD YL Sufeir aulgeuenLolILIT6IT

C. enb.eter0. S6UTLOBTSH60 3. usem LIl dluler SHbhns
A B C

a.1 3 2

b.3 1 2

c.1 2 3

d3 2 1
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96. Which nuclear power plant on June 8, 2014 became the first nuclear power
plant to generate 1000 MWe?

a. Kalpakkam b. Kudankulam c. Narora d. Kaiga

by Slamidlest Bleweowlld gder 8, 2014 ojerm 1000 GosTeuml. o BuSHH OCFuIH
(PSHO Slgml L6 Bleweould?

a. &6OLITHBID b. gmLmigend c. mGymum d. ewasn

97. Rand is the Currency of:

a. Namibia b. Iran c. Romania d. Norway
Gyewil_ eIadILIGI 616 BT (H [HTEITULILD
a. puiwm b. mymest c. Gymomesiwim d. mriGeu
98. Base which is used to treat acid poisoning
a. Calcium hydroxide b. Sodium hydroxide
c. Ammonium hydroxide d. Magnesium hydroxide
SIflev aNgHend (G6IoTdSS LIWGILIBLD STJLD
a. &Teodwid el JTohamen(h b. Bgmguib mamL jr&emer{H

C. oIbGomelwid enamL JTéemen(® d. GudefAuid emami groHme®h

99. Court Poet of Akbar was

a. Birbal b. Tulasidar c. Bairam khan Khana d. Rahim
SibUlleT opFameud HaleEhITd BHbHeuT
a. LUumed b. gindEna = C. MUIIDBHTET BHT6oTT d. genfib

100.Consider the following statements.
1. There are 21 High Courts at present in India.
2. Kolkata, Mumbai, Chennai and Allahabad High Courts were established

in the year 1862.
Which of the statements given above is/are correct?
a. 1 only b.2only c.both1and?2 d. Neither 1 nor 2

LI&TaU(HLD QUTESIUIBIG6TS  H6r6wTdH6)|LD

1. @pswraled sBGUTEH 21 2 WHHIDETBRISET 2 6iTermen

2. 1862 &b oewih, OBTOSHHT, (PevL!l OFeene BBID  DIGVSTLTS
© WIMHHIDOGIBRISET © (HeUTEBLILIL L 6.

GuBasmiL  aumddwmiseisy Fllwmaemel eig /  eTeneu?

a. 1 (B b. 2 wl G c. ®yewipo M d. egiadevensv
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1011+ 24242 2 L g equal to
2 4 7 14 28

a.2.5 b. 2.0 c.1.5 d.1.0

T R B& &LOD?
2 4 7 14 28 DD )

a.2.5 b. 2.0 c.1.5 d.1.0

+
102.The value of 225X 225x 225+ 275 x 275 x 275 1S
225X 225 - 225 x275 + 275 x 275

a. 500 b. 600 c.650 d.50
225 x 225 x 225+ 275 x 275 x 275

60T LOGILILY
225 x 225-225 x275+ 275 x 275
a. 500 b. 600 c.650 d.50

103.The diameter and slant height of a conical tomb are 28 m and 50 m
respectively. The cost of white washing its curved surface at the rate of 80
paise per square metre is

a. 22640 b. " 1760 c. 264 d. 176

RH Fnlbl] algel HevevenmulleT SLIID  OBEID. FTule] 2wy (WpemGw 28 IS
BHBID 50 1§ LESLD. SIS aleneNhSH GOBLITLILIEO &ewlenImbl LLFSBEH, @
g BLLHEBG 80 edUIFT 6IIm aighdHHe0 6l6lealene] 0Feve| SLEGHLD?

a. 22640 b. 1760 c. 264 d. 176

104.A hemispherical bowl of radius r is filled full with a liquid. This liquid is
poured into a conical vessels whose height and radius of the base each is
equalto r. how many such vessels will be required?

a. 1 b. 2 c.3 d.4

r ob OamewiL o Sewjsd Csmend SHlewiewid @h SHyeud  OCemewmi(h
BIOUIUGSBE. DIHDHH SHIeUd T-HGHF FOWTET 2 WID oBmId  DIQliLiGS)
SDHE  CBTWIL @b Gidl| algal UTHBTHID 2appluGSssl. Sibss
HIuHme 2MBMIAISBESH DIHHMBU 1HHM LITSHHTHIS6T CHeneuliiBLd?

a. 1l b. 2 c.3 d.4

105.50 circular plates each of radius 7 cm and thickness %2 cm are placed one
above another to form a solid right circular cylinder. What is the total
surface area of the cylinder so formed?

a. 1230 cm? b. 1332 cm? c.1408 cm? d. 1560 cm?
7 QF8 g Y2 QF5 s sl 50 el Leugel HUBH6T  eiTBesT
Gwed @aiBTE  DBSESIULG @b HL ChTeulL 2 (hewel 2 (HeUTSIWGTENSI.
AbH o (Hemenullelr OLOTSHEH — LBLITLILIGNT6) wimgs?
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a. 1230 cm? b. 1332 cm? c.1408 cm? d. 1560 cm?
106.Choose the incorrect pair.

A.Sarkaria Commission 1986
B. Raja Mannar Commission 1969
C.Anandpur Sahib Resolution 1973
D. West Bengal Memorandum 1977
SHEUMBTET  E)61600160) I BHIT60015:

A.gftamiur G - 1986
B. pmegosstestit @ p - 1969
C. olebpLUT FTHI SHTOTEID - 1973
D.Gomi@ eumismen@siLiLmen et - 1977

107.Dr.P.Rama Rao Committee is related to which of the following?

a. Taxes b. Defence c. Industry d. Agriculture
LrsLT. . @ymongmel @& LleieuheleieummieT 618 OSHIL TUmeisl?
a. eauflser b. urgisiy c. Oamfmsarensy d. eleugmuib

108.BRICS leaders signed the agreement to establish'a New Development Bank
at the summit held in
a. New Delhi, India (2012) b. Durban, South Africa (2013)
c. Fortaleza, Brazil (2014) d. Ufa, Russia (2015)
Hféed (BRICS) seneveuaer ehg o &Fd OIETLIQE0 ‘LB euenTdd] sumidlenwl
HIBIeUSBHTE @IIBHHHHED MBHGIUILSHSI L 6oriT?
a. Usloevel, @bslwr (2012) b. Lituer, Gser oulfédar (2013)
c. LIGysled (2014) d. yegwmr (2015)

109.The sea coast of which one of the following states has become famous as
nesting place for the giant Olive Ridley turtles from South America?

A. Goa B. Gujarat C. Orissa D. Tamil Nadu
BIDSHHEWIL  LOTHIVMIBET6D, 61HEH LOTHVS HLBHM] OHeT DIGWTHHTAlL E(HHSHI
abd Ouflw ouedel Mled SuemL &6l WLdLUILB GHehs OCurfds GuuiT GumBm
HLMBHOTWTS lleNmiGHHBSHI?

A. Gameur B. @115 C. gflerom D. s101bpr®H

110.Which one of the following rivers does not originate in India?

A. Beas B. Chenab C. Ravi D. Sutlej
BIDHBMIL Y MIH6e0 61hPH &Iml AbhHwTalled 2 BLSHSHWTHaNe0mn607
A. wimerd B. Qe C. gmai D. g1 60
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111.Which blood vessel begins the systemic circulation?
a. Pulmonary artery ~ b. Pulmonary Veins

c. Aorta d. Coronary Sinus
oL s QIHPH FEBFdUW FHUSSGHD BIHHH HL60 61HI?
a. Bleoguiyed Hioeof b. miemguiyed FHemiy
c. Qu(ppbsLoe d. &Cymenfl enaeurerd
112.Match:
a. Al Hilal - 1. Mahatma Gandhi
b. navajivan - 2. Abul Kalam Azad
c. Bombay Chronicle - 3. Aurobindo Ghosh
d. Bande Mataram - 4. Pheroze Shah Mehta
a b C d
A1l 2 4 3
B 2 3 4 1
C2 1 4 3
D1 2 3 4
QUT(HSHHISH:
a. 0 aMlevmey 1. LDSTSHIDT HMHI)
b. meu oSeuest 2. SIY6D H6VUTID YIFTH
C. LIbUTUI &lJmeolde0 3. Qihg Carad
d. aub@s oTHFID 4. 18 Te%69T GHT
a b C d
Al 2 4 3
B B 3 4 1
G 1 4 3
D1 2 3 4

113. Arrange the following statements in chronological order:
I.  The first round table conference was held in London
II. The non Co-operation movement was abruptly called off by Gandhiji,
following the Chauri Chaura Incident
III. The resignation of Congress Ministry was celebrated ad Deliverance
Day by Muslim League
IV. The Cabinet Mission put forward a plan for solution of the
Constitutional Problem.
A LIL IV, I B. 1L, I, I1I, IV
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C.IL L IT, IV D.IV,IIL, I, 1
SIPHHEWIL UTHFH BB HTeL aUfleFLILBSHS:
. apzpe0 aul' L Gweng 1OTHTH 60T 660 HeDL GLIBBSI
II. @sz@puTemD AubsssHmed OFamMoFenym BsDFHow  OHTLMHS)
SMhFHWIgHeT Senl ulGCw MHBISHFH MeudHSHTT
III. smmdys  SmdFsgemalseT LUHal aleodemer, (Lpeoedld 658 all(BHemev
BITeNTHS GBI TIQUIGI.
IV.smier grng @ SbsHwumelsr SipFuieoemol] FHosealshd @b SHiTenel

W& aISSHI
A LILIV, I B. 1L I, III, IV
C.IIL L IT, IV D.IV,IIL I, I

114.Consider the following statements
1. XIITth Rock Edict deals about war with Kalinga
2. Pillar Edict VII gives a summary about Dhamma Promotion
3. Minor Rock Edicts deals with Asoka’s instruction given to officials
4. Asoka embraced Busshism hindu Influence of Tissa
Which of the statement'is /are correct
a.1,2 &3 alone b.1,3,4alone c. 2,3, 4 alone d.1 & 4 alone

LI&TRU(HLD QUTEHSBIUIBIGEN6TS  H6r60TdH:

1. 136ug utedml LUgsLend SHelBsTsCammB gnul L CumfleeriuBples smBISBgl.

2. Tougl Sewt LNJsHLeullDs SHIDIOWD 2 _wiie] Hlenew UBBlL alendaloeTsaS Bl

3. A utemll  LITSHL @IRIG6T DIIIeTHEHDHGHF OFTevevlILl’ L. DICFTHIM 6T
QBMI(LPENBEHEIT - S MISIUIFHI.

4. Flgmaler GeMLUTl96 epeooTd DICFTHT LIGHHLOSH S 60601 H (LD 6OTTT

LeTeumd euThSumiseiey Fiwmeaigs oigl / eleneu?

a. 1,23 wL@Bw b. 1,34 wl @Bw c. 234 w' B d. 1,4 wl @B

115.The setting up of national parks and sanctuaries was facilitated by
a. Wildlife Protection Act 1972
b. CITES 1972
c. GBF 1991
d. Ramsar Convention
CapdwiymsT OBBID alaallevmE STULSEGT DMLLILUSBEG 2 Hb FLL LD
a. auaralleLmIGdHeT UTHISTILF FLULID 1972
b. CITES 1972
c. GBF 1991

d. gmbar WysL b
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116.A circular road runs round a circular ground. If the difference between the
circumferences of the outer circle and the inner circle is 99 metres, the width
of the road is...

a.19 cm b. 31.50 cm c.15.75 cm d. 17.50 cm
@M QL  GUQEIDTET  FTeNEV  @(hH  GQULLIDTE  eOHTAIHMSF &b
SIMLDSBLILIL (HETeN ). ObHF Fmemeoulledt Geuerl eulL LD WBBID 2 6T

QILL &MBBeNe|sensd SenL Guiwimer aAlsHwmgd 99 IO LiTEH6T  elelev,
OIHHF FTeneoulet il L LD ...
a. 19 Q=15 b.31.50 Q15 c. 15.75 Q&1 d. 17.50 @&15

117. Mira’s expenditure and savings are in the ratio 3:2. Her income
increases by 10%. Her expenditure also increases by 12%. By how many
% does her saving increase?
a.7% b. 9% c. 8% d.13%
ymaler Ogevey MW Gglli] aldfsd (WPenpOWIE I 2. SiaumenL Ul
au@poTerd 10% oHSMNSHOUTEH DT HaT QFeemal ™2 % o1FsfdhaHTen,
SlamHevL W CFLOIL Teleleustioy ' o135 oH@HIb?
a.7% b. 9% c. 8% - d.13%

(Q.NO. 118) This graph shows sales progression of company Y between 1988 to
1992. After carefully studying the graph, answer the following questions.
CaTHGHBILL BeTen Ul alensbslIluLGHeo HDOUT Y e  alBuemer  DHIIL]
(oLFHFHe0) 1988 — 1992 b Syewibeueny  OBTBEHSULL(BeiTengl.  &HGp
QBTHSHSLILIL BaTeT  eleesehsE alenL w6l

Figures in Lacs of Rs. Sales (wglliseir svl g5860 QambabsliLL (BHeTeng)

0gse

L]
ha i~
- (=]
alza e | B
= o
—p Years 1988 1989 1980 1991 18%2

118.The total increase in sales from 1988 to 1992 is —

a. 130% b. 134% c. 136%d. 137%
198860 mba 19921b SyewiBaueny alBLMET 2 _UlTe)] FHAIHID 6l6lalene]?
a. 130% b. 134% c. 136%d. 137%
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119.Which of the following is function of statistics?

a. condensation b. comparison

c. Forecasting d. All of these
SIDSHHEMILBNIe0 618 LeTelulwellesr Liewl SL@HLb?
a. F(HRIBDHInDBIH60 b. @UuiLed

C. (LpevTentnslghen d. Bmal SMaTHHID

120. A bell - shaped curve is

a. Symmetrical b. + vely skewed

c. — vely skewed d. Asymmetrical
LoewTleUIgemaIs OIBTEITL.  QEN6YT6M6MI

a. FFTITeIH b. GwiToenm Gl L (Lpeml_wig|
C. ea1gmoens Gaml L (LpenL WG d. FwfrBpe

121.Which of the following Island is under direct threat of rising sea levels due
to climate change has appealed for help from European leaders?

a. Palau b. Marshall Islands c. Tuvalu Islands d. Nauru
Ueltaupld  6lhbd  Hey  Lheubledey  OMBBSHIHemed HL6O UL 2 ulHd
SIUTWSHH(HHSH 2 HayeudnE |Crmilul HenewalTselL b (Wwemull (heTensl

a. uGever b. w960 H6e|Her

C. BN FHa|BH6T d. Gmerm

122.Sandhya Agarwal is associated with which of the following sports?

a. Hockey b. Cricket c. Chess d. Table Tennis
FhHWT HBHTeUT6L. LeTaUBHD 61hG allenemuml (L6l CHTL LML UIeuT?
a. amTeHS b. Hfa0sL- C. FHIJBIBID d. Guoengy LbHSI

123.Which one of the following functions is not performed by District
Collector?
a. Maintenance of Law and Order
b. Collection of Land Revenue

c. Dispensation of Justice

d. Social Welfare

LlesTeu(heueeuBmIeT omaul L &y Fuigmed G ng Qgweour® 61g)?
a. FLLID @uomdlenal L BHLLBSHHISH60

b. Blev aumHeuTUl 6UEH6ED

C. b& GUDHIGH6D

d. gFeps Hevest
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124.Choose the correct statement.
I. The term Lokpal was coined by L.M. Singhvi.
I1. Lokpal is based on Newzealand Model.
III. Lokpal is a statutory body.
IV. LokAdalat was established based on Article 39(A).
A. 1 II, III are correct B. I, III, IV are correct

C. II, III are correct D. All are correct
FNWTET  FnBeNBHTENI5:
WM  SnMBenBEHT6m0IH:

I. “Georsumed’usdma o (Harmsduweam L.M. frai

Il. Geomsumed mlupdlevnbal wrgfenwl FTihHSHH

1. GeomrdLmed &L L L TaULDTETSIMLOLIL]

IV.57535139(A) emeu oigliLenL WTed CsmaiBGeand SiHTevd 2 (HeuTdaLLIL L
A. 1 1II, Il B. L, III, IVaf

C. II, Il D.smeaiszid il
125.1dentify odd one
a. Argentite b. Malachite  c.Galena d. Cinnabar
QUTHHSTHMHS HwI(BLIY
a. SITOxeaenLL_ b. wmeoTenaL
C. &60euIT d. devrevruimir

126.Where is Bundala Biosphere Reserve Which has been recently added to the
UNESCO’s Man-and Biosphere (MAB) network located?

a. Russia b. India c. Sri Lanka d. Bangladesh
FLuGHHle0 - woerervBaraler  welger  wBpId 2 uliTdGsrend  GemeniliLiled
GaidsUL L uewiLmeor o ulTdGsmen &TlLSD 6hIGH DiMLHSBIeNenSHI?

a. Jeyuim b. @bawim C. WNfeURISBT d. aumisten Bmhaid

127.The first Indian * Union territory that has recently announced formation of
Swachh Bal Senas’ to ensure that children functions as watchdogs of
cleanliness and prevent elders from littering streets is
a. Andaman and Nicobar b. NCT of Delhi
c. Daman and Diu d. Puducherry
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SHTUIHIDS  HEWISTRILILS (LSBT, GHWHSHHeen OCFwedLThFHelled o mig)
OBHILD  DIUTHTNT FHDHHNDH HeWIBT60NHH60, FTen6LUI6D 2 66N  (GHLHENHHEN6N
CQuflweiTeelLb @mba WLLed GumeaimpeumBens GCrTéHsTssd OCFmTewiL  “erveud
umed JFererd”’ eleiB  HLLHMS (PHeded oplalshs b upeiwer LIgGsald
oI&1?

a. OIbFLOTE LOBBID HleGaHmumT b. GLsveluler Geaa)

C. LITLDGH LDBMID 6MLU] d. yssGs

128.India has been observing the National Consumer’s day on

a. 26th August b. 24th December

c. March 15 d. 30th June

AbhHuwimaled HISTCMTT GHlerd eTICLTINSH DieFTHELILIGHBHI?
a. 26, SLHErOL b. 24, w&buir

c. g 15 d. 30, ggea

129.Citizenship Act was not amended in which of the following years

A. 1986 B. 1993 C. 2003 D. 2005

Gl flenogl Lib Lleeuphd 61bdH Dhemgest FL LGHHBHSD 6FuIwalsdemnev

A. 1986 B. 1993 w2003 D. 2005
130.Match the following

Provinces Places

A. Tosali 1. Northern Part

B. Ujjain 2. Southern Part

C. Suvarnagiri 3. Western Part

D. Taxila 4. Eastern Part

Codes

A B C D

a. 1 2 3 4

b. 2 1 4 3

c. 4 3 2 1

d. 4 3 1 2

CQUT(HHHIS:

LDIT&HIT 6001 R 61T BL_mIGH6IT

A. Gzxramel 1. L&GI UGS

B. o shememef 2. OBEL UGS

C. samenglfl 3. CuBel UGS

D. sl gdeod 4. FPHG&I UGS
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A B C D
a.l 2 3 4
b.2 1 4 3
c4 3 2 1
d4 3 1 2
131. Given the following
Cause of | Fire Traffic | Falls Burns Falling | Misc.
Accident objects
No. of | 10 15 20 15 35 5
Accidents:
The suitable diagram for the above data is
a. Bar diagram b. Histogram
c. Pie-diagram d. Squares
OBT(HSBLILIL (HETT6meneY
AlUGHIHIHHTOT | & QUTEEDILI al(pFHeL | Hd QUTHET | BHT
SITJ G00TLD CUTSG 6T SHSI STWRIST | all(pgHed | LB
alluggibaeter | 10 15 20 15 35 5
616001 6001|861 &b

GuoBsramid alUIRISEHGHE SHSHhD aleNSHBLILIL DTS

a. UlenL alen&ésLILL LD
C. ol L &lendsliuLLD

In the following diagram, 3 classes of population are represented in 3 figures.
Triangle represents school teachers, square represents married persons and
circle . represents persons living in joint families. Based on this, answer the
question given

S(P6ITeN  LILSHFH60 cpadiml allg o6l OFHTend (el LILMIS6NTs ST L LILIL (HeiTere.
Wp&HBamemid  Ueiell  FflwiTdenemuld, FHITID SHHOGWID DLETAITHEMETU|D, UL L LD
&L BS GbLuUSHHe auFlliLaTsmenud  GBlbH Al  Deumplear  SiQUILIEHL U0

b. OF6ieus euenFLILLD

d. Fgymise

Hetaurmd CopelTald@ aleml SieMdbdHa|b
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132. Married persons living in joint families but not working as school
teachers are represented by

a.C b.F c.D d. A

Ll (HHESBLOLIGHSHE0 QUT(LLD &) (THLDGTOTLD S ETOUTEH6IT SLEOTTEL Li6Te
S FMWTHeNTs LenlTBBSHaITE6T e1gHenme0 GMILLIL LuGeuT?

a.C b.F c.D d. A

133. Ten years ago A was half of B in age. If the ratio of their present ages is 3 :
4, what will be the total of their present ages?

a. 8 years b. 20 years c. 30 years d.35years
LUdhSHl DLW BBEHDHG (Wpaitenmed A-eT euulghl B-61 auuidHed urHuns SHbhHI.
SBCUTHW laITHeT6 auuigl alHlHd 3 : 4 eleled, SleuTHeller HBOLTENSHW
AUISHIH6M6T Fn(HFHeD 6165T60 7
a. 8 GU(HLIBIGHGIT b. 20 eu@pLBismaiT
C. 30 QUBLBIGB6I d. 35 eumLmismei

134. Opera is

a. a programming language b. a browser

c. an operating system d. word processing tool
LLTT @

a. SO Gomf b. o sval

C. BWesd ML d. GemBOFwed GLOGGTEOLIT(HET

135. The one, which.is not a social network among the following is

a. Twitter b. SMAP c. Face book  d. whatsapp
LTledTeM(HeUetToUBMIET 61hdH 6Tl FLPd 6UMELSHENT  DIGHLOLILITHTG]?
a. el LT b. er0Giori c. . .Guedys d. eumerdeyl

136.Increase in RBC leads to

a. anaemia b. Polycythemia c. Leukemia  d. leukopenia
158 FauliLgnshseen eewnienlbamd DIFHHTHH0

a. Or5H58FTend b. urelenasdhdioluir

C. edluysLilum d. ey Gasmiieuim

137.India’s first integrated “Water Metro’ transportation project has recently
(July,2016) been launched in the Indian city of
a. Varanasi, Uttar Pradesh  b. Panaji, Goa
c. Jaipur, Rajasthan d. Kochi, Kerala
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“Bt Gl Cym” Gurs@arsHad HLLHmPH FOUSHHD OCHTLRISHW (PHeO b
BBJLD 6157

a. anmgemd, o A Ig8sad, b. uemed, Gsmeur

C. QeQUIliIYT, JTE3erOSHT6IT d. Gansd), Gasyenm

138.Which one of the first ruler of Vijaynagar who send an ambassador to
china?
a. Bukka 1 b. Harihara 1 c. Devaraya 1 d. Harihara II
FamalBE@sH HTHMI D@L (1pHe0 aIQUWIBST DIFSFT wimiT?
a. (LPHEVTD LT b. waeomd amflamyr
C. (pHoeomd Gmheugmuim d. @yewiLmb emfamym

139.Mahavira Preached his teachings in

a. Pali b. Magadhi c. Prakrit d. Nepali
LOTEHTAIIT SHetTanlenL_ Ul L0HH0\BmeTendHmen BGUTdsHs Gl
a. umel b. wad c. e mad  d. Gpumef

140.Which of the following is the main component of voter ink?

a. Silver Nitrate b. Ammonium Chloride

c. Silver Chloride d. Ammonium Nitrate
LNetTeu(HeueaBMmIeT 61&H1 GUTSHBTAIT ewIbUllel (LpdH&lul LIGHICUT(HeT?
a. Fleveu empL Gy b. @ibGoreiwib &GenTeny®

c. deoauT GHCeneng® d. oubGwreiwib enmpl Gy

141.Which one of the following is wrongly matched

a. Geekwad - Baroda

b. Holkar - Poona

c. Bhorisle - Nagpur

d. Scindian - Gwalior
LlesTeu(HeueTaUBmIeT Heummall CQUTHbHUleTendl 6157
a. GaddHeum - uGgmLm

b. BammevsiT - LeorT

C. BumerervGev - [BT&LT

d. FpHuwimdser - @6UTeVILIT
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142.Match the following

Industry Place

A. Synthetic rubber 1. Bareilly

B. Woollen textile industry 2. Serampore

C. Paper industry 3. Kanpur

D. Jute Industry 4. Rishra
A B C D

a.1 2 3 4

b.1 3 2 4

c. 3 2 1 4

d4 2 1 3

CQUT(HHHIB

CHTHMBEFTENEV 8L 1b

A. Gawmens UL 1. GuyeveV

B. sibuefl GamiBarenso 2. QamGumT

C. ardls OamPBaTemsn 3. SITEIILLT

D. gewied GHTHlevaTens0 4. Majym
A B C D

a.1 2 3 4

b.1 3 2 4

c. 3 2 1 4

d4 2 1 3

143.In disinvestment model of ‘Public offer” GDR means
a. Gross Deposit Ratio
b. Global Depository receipts
c.. Gross Drawing Rights
d. None of these
LUk allevdded / (WwHeSiewl Hmbu Gumed wrdfluled GDR-uller GQummeit
a. QrsHs ewaulil] allalFd
b. 2 & ewauliy yFs
c. Qrss Gupb o fenio
d. @meu gsIbevm6D

144.Which Moghul ruler recognized shahu as a Maratha king

a. Shah Alam - I b. Azam
c. Faruk Siyar d. Mohammad Shah
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FTasenel 6(hH IITLIQUI 6TeTeTHGel DIMISHMHSD (LPH6OTW DIFFT WTiT?
a. (IPHUTD QYT SLEVLD b. &5
C. LIHhBAGUITT d. sk agr

145.Konkan railway was inaugurated in

a. 1995 b. 1998 c. 2000 d. 1983
Cammiser ArulevBa OHTLMISLILLL eI
a. 1995 b. 1998 c. 2000 d. 1983

146. Which of the following is used by Hackers?
a. social studies b. Social Visits
c. social Engineering d. Social Hacking
LesteumeustiauBmiell CamsaiTael LWeLbhHDHINSH 615l,?
a. FPBH HLUIGH6N b. gFeps aumHMmBDHE
C. geps GQuTPluiuied d. Feps GamsAmi

147. Software Embedded into Hardware is
a. Firmware b. Application
c. System d.Liveware
QLOGTOILIT(HET LS SSLILUL L 6U6IOIT(H6TT LSLD
a. . .UmbGeui b. uweT® C. (LPEDMENLD d. emeveiBeu

148. The number of triangles in the below figure is
SPBHWIL  6UMPILL SHFHl60 2 6iTenm (LPGHTemImIS66 6163016001 856D

2. 20 b. 24 c.28 | d.32

149. A class starts at 10 A.M and lasts till 1.27 P.M. Four periods are held
during this interval. After every period, 5 minutes are given free to the
students. The exact duration of each period is
a. 42 minutes b. 48 minutes c. 51 minutes  d. 53 minutes
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@ audly 10 AM & esmimg 1.27 PM. &g WodHBalUm miseT Hreng,
g TMwGsentes BLSSILULG @6lbeurm UTNwhselear (pgaled 5  BLOLmisaT
LOTEIRUTHEHSHG @UIeY SHTULGHBHI 6T6elled 6(hH Lifluiger SHmev ©i6me) 6l6T6017

a. 42 B Bibei b. 48 BifL_misbeir

c. 51 BlilL_misbelt d. 53 PO Biseit

150. A started from a place. After walking for a kilometre, in a direction, he
turn to the left, then walking for a half kilometre, he again turns to the left.
Now he is going eastwards. In what direction did he originally started?

a. West b. East c. North d. South

A et @fLHHmHEH @ SHomgemul GprThal e &HBeom IS LT  BLHSD
Ipe BLiussd Hobll 2 HGur LT 1IBE Wewihd @ LIubsib. SHwbL
BLbBSH Ogeodprt. s$BOuUTd SeuT SHwshg FHmg CohTdsl FBLBSH  OlFamTe,
OFHTLHHHH0 DUT 6lhdH HavFenuwl CHTHS OFHTLmIglerTiT?

a. Gumg b. Hwse C. QLG d. CsBE
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GROUP | - PRELIM 2018
PRE-MODEL EXAM -1

1 2 3 4 5 6 7 8 9 10
D D D A D D C C A A
11 12 13 14 15 16 17 18 19 20
C D D A C A C A B D
21 22 23 24 25 26 27 28 29 30
B C B B D A C D D C
31 32 33 34 35 36 37 38 39 40
B B A A D A A B C A
41 42 43 44 45 46 47 48 49 50
C C C C D B C A B A
51 52 53 54 55 56 57 58 59 60
B A C D C D D C B B
61 62 63 64 65 66 67 68 69 70
D A A B C C A A D B
71 72 73 74 7o 76 77 78 79 80
B C B C B D A B D C
81 82 83 84 85 86 87 88 89 90
A C D C C C B A C D
91 92 93 94 95 96 97 98 99 100
D C A B C B A A D D
101 102 | 103 | 104 | 105 | 106 | 107 | 108 | 109 | 110
B A B B C A B C C D
111 | 112 | 113 | 114 | 115 | 116 | 117 | 118 | 119 | 120
C C B A A C A B D A
121 | 122 | 123 | 124 | 125 | 126 | 127 | 128 | 129 | 130
C B C D B C D B B C
131 | 132 | 133 | 134 | 135 | 136 | 137 | 138 | 139 | 140
C C D B B B D A B A
141 | 142 | 143 | 144 | 145 | 146 | 147 | 148 | 149 | 150
B B B C B C A C B A






